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Question Id : 92090610937 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aireraft from a troubled Indian carrier. Leasing aireraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good credit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aireraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aireraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames ‘financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual vielations of one particular airline,”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....”

Sub questions

Question Number : 1 Question Id : 92090610938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why airfares already too high could rise even further?

(1) Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aireraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090643201. 1
92090643202. 2
92090643203. 3
92090643204. 4

Question Number : 2 Question Id : 92090610939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements *

Statement [ :  The full form of NCLAT 1s National company Low Aviatron
Tribural.
Statement 11 + Full form of DGCA 1s Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

helow -

(1) Both Statement [ and Statement II are true
(2) Both Statement [ and Statement II are false
(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement I is true
Options :
92090643205. 1
92090643206. 2
92090643207. 3
92090643208. 4

Question Number : 3 Question Id : 92090610940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

After which case leasing airveraft could cost 20-25% more?
(1) NCLAT case

(2 DGCA caze

(3)  Go first case

(4) Al indigo case
Options :
92090643209. 1
92090643210. 2
92090643211. 3
92090643212. 4

Question Number : 4 Question Id : 92090610941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be

(1) 20-25%
(2) 10-12%
(3) 2-3%

(4) 10-25%

Options :

92090643213. 1
92090643214. 2
92090643215. 3
92090643216. 4

Question Number : 5 Question Id : 92090610942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Go First is seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1)  To skip the que.

(2)  To skip the que and go to the last place.

(3)  To skip the que while waiting for one’s turn.

(4)  To skip the que and go ahead without waiting for one’s turn.

Options :
92090643217. 1



92090643218. 2
92090643219. 3
92090643220. 4

Question Id : 92090610937 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aireraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good credit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aireraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aircraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy D(GGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames ‘financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline,”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....”

Sub questions

Question Number : 1 Question Id : 92090610938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why airfares already too high could rise even further?

(1) Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aireraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090643201. 1
92090643202. 2
92090643203. 3
92090643204. 4

Question Number : 2 Question Id : 92090610939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements *

Statement [ :  The full form of NCLAT 1s National company Low Aviatron
Tribural.
Statement 11 + Full form of DGCA 1s Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

helow -

(1) Both Statement [ and Statement II are true
(2) Both Statement [ and Statement II are false
(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement I is true
Options :
92090643205. 1
92090643206. 2
92090643207. 3
92090643208. 4

Question Number : 3 Question Id : 92090610940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

After which case leasing airveraft could cost 20-25% more?
(1) NCLAT case

(2 DGCA caze

(3)  Go first case

(4) Al indigo case
Options :
92090643209. 1
92090643210. 2
92090643211. 3
92090643212. 4

Question Number : 4 Question Id : 92090610941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be

(1) 20-25%
(2) 10-12%
(3) 2-3%

(4) 10-25%

Options :

92090643213. 1
92090643214. 2
92090643215. 3
92090643216. 4

Question Number : 5 Question Id : 92090610942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Go First is seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1)  To skip the que.

(2) To skip the que and go to the last place.

(3)  To skip the que while waiting for one’s turn.

(4)  To skip the que and go ahead without waiting for one’s turn.

Options :
92090643217. 1



92090643218. 2
92090643219. 3
92090643220. 4

Sub-Section Number : 2
Sub-Section Id : 920906357
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090610943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3) Let the monkey not be teased.

(4)  The monkey has not been teased.

Options :

92090643221. 1
92090643222.2
92090643223. 3
92090643224. 4

Question Number : 6 Question Id : 92090610943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4)  The monkey has not been teased.

Options :

92090643221. 1
92090643222. 2
92090643223. 3
92090643224. 4

Question Number : 7 Question Id : 92090610944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation
(2) Bad intention
(3) Hair dresser

(4) Full freedom of action

Options :

92090643225. 1
92090643226. 2
92090643227. 3
92090643228. 4

Question Number : 7 Question Id : 92090610944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1)  Official intimation
(2) Bad intention
(3) Hair dresser

(4) Full freedom of action

Options :

92090643225. 1
92090643226. 2
92090643227. 3
92090643228. 4

Question Number : 8 Question Id : 92090610945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _ Delhi
thursday. The weather station sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090643229. 1
92090643230. 2



92090643231. 3
92090643232. 4

Question Number : 8 Question Id : 92090610945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _  Delhi
thursday. The weather station sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090643229. 1
92090643230. 2
92090643231. 3
92090643232. 4

Question Number : 9 Question Id : 92090610946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “ 1
have completed my work.”

(1) Alok tells, “he completed his work,”

(2)  Alok says that his work is completed.

(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.

Options :

92090643233. 1
92090643234. 2
92090643235. 3
92090643236. 4

Question Number : 9 Question Id : 92090610946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “ 1
have completed my work.”

(1) Alok tells, “he completed his work,”

(2)  Alok says that his work is completed.

(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.

Options :

92090643233. 1
92090643234. 2
92090643235. 3
92090643236. 4

Question Number : 10 Question Id : 92090610947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘captive’ is: -

(1) Candid (2) Censure
(3 Pragmatic (4) Prisoner
Options :

92090643237. 1
92090643238. 2
92090643239. 3
92090643240. 4

Question Number : 10 Question Id : 92090610947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘captive’ is: -

(1) Candid (2) Censure
(3) Pragmatic {(4) Prisoner
Options :

92090643237. 1
92090643238. 2
92090643239. 3
92090643240. 4

Question Number : 11 Question Id : 92090610948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2. -7
(2) T, -2
(3) 29
(4) 207
Options :

92090643241. 1
92090643242. 2
92090643243. 3
92090643244. 4

Question Number : 11 Question Id : 92090610948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

1 2,-
(2)
3 2,
(4) 2.7

=]
IL:I =]

=1

Options :

92090643241.
92090643242.
92090643243.
92090643244.

A W N =

Question Number : 12 Question Id : 92090610949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4"=2 and, x+2y+z=35then the value of x is:

(1) 3 (2) 4
3 5 (4 2
Options :

92090643245. 1
92090643246. 2
92090643247. 3



92090643248. 4

Question Number : 12 Question Id : 92090610949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4" =2 and, x+ 2y+z =35then the value of x is:

(1) 3 (2) 4
3 5 (4 2
Options :

92090643245. 1
92090643246. 2
92090643247. 3
92090643248. 4

Question Number : 13 Question Id : 92090610950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is xxZy+xyiy first expression is (x2ty2)
then the second expression will be:

(1) (x-y) (2) (x+y)
(3) (xiy2) (4) (x—y+xy)
Options :

92090643249. 1
92090643250. 2
92090643251. 3
92090643252. 4

Question Number : 13 Question Id : 92090610950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is x-xZy+xyiy* first expression is (x2ty2)
then the second expression will he:

(1) (x=y) (2) (x+y)

(3) (%) (4)  (ey+xy)

Options :

92090643249. 1
92090643250. 2
92090643251. 3



92090643252. 4

Question Number : 14 Question Id : 92090610951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: : : LN .
In how many time will a sum of money doubles itself at T=% simple interest per

“

ATTm:

(1) 14 years 3 months
(2) 13 years 4 month
(3) 13 years 9 month

(4) 13 years 3 month

Options :

92090643253. 1
92090643254. 2
92090643255. 3
92090643256. 4

Question Number : 14 Question Id : 92090610951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: : : LN .
In how many time will a sum of money doubles itself at T=% simple interest per

“

ATnum:

(1) 14 years 3 months
(2) 13 years 4 month
(3) 13 years 9 month

(4) 13 years 3 month

Options :

92090643253 1
92090643254. 2
92090643255.3
92090643256. 4

Question Number : 15 Question Id : 92090610952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :

(1) Rs.16,400
(2) Rs.15.500
(3) Rs.15,000
(4) Rs.16.000

Options :

92090643257. 1
92090643258. 2
92090643259. 3
92090643260. 4

Question Number : 15 Question Id : 92090610952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly 1s :

(1) Rs.16,400
(2) Rs.15.500
(3) Rs.15,000
(4) Rs.16,000

Options :

92090643257. 1
92090643258. 2
92090643259. 3
92090643260. 4

Question Number : 16 Question Id : 92090610953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

(1) 1 Z) 2
(3) 3 (4) 4
Options :

92090643261. 1
92090643262. 2



92090643263. 3
92090643264. 4

Question Number : 16 Question Id : 92090610953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CMa@NLT2Y6SaQ$7T*W#z3UE%A4 How many symbols are there in the ahove
arrangement which are immediately preceded and also immediately following by a
vowel?

(1) 1 (2) 2
(3) 3 (4) 4
Options :

92090643261. 1
92090643262. 2
92090643263. 3
92090643264. 4

Question Number : 17 Question Id : 92090610954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : A college student said, “ everyone desires to buy a personal
computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve quality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption II

(4) Neither assumption I or assumption 11

Options :
92090643265. 1
92090643266. 2



92090643267. 3
92090643268. 4

Question Number : 17 Question Id : 92090610954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : A college student said, “ everyone desires to buy a personal
computer”
Assumption I :personal computers are not a need but a luxury

IT : Use of personal computers improve quality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption I
(2) Only assumption 11
(3)  Assumption | and assumption II

(4) Neither assumption I or assumption 11

Options :

92090643265. 1
92090643266. 2
92090643267. 3
92090643268. 4

Question Number : 18 Question Id : 92090610955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
8CM@NLT2Y6SaQ$7T*W#z3UE%A4 How many symbols are there in the above

arrangement which are immediately preceded and also immediately following by a
vowel?

iy 1 (2) 2
(3) 3 (4) 4
Options :

92090643269. 1
92090643270. 2



92090643271. 3
92090643272. 4

Question Number : 18 Question Id : 92090610955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y6SaQ$7T*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

() 1 (2) 2
3 3 (4) 4
Options :

92090643269. 1
92090643270. 2
92090643271. 3
92090643272. 4

Question Number : 19 Question Id : 92090610956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of rectangles are there in the following figure?

(1) 10 2} 19
(3) 138 (4) 20
Options :

92090643273. 1
92090643274. 2
92090643275. 3
92090643276. 4

Question Number : 19 Question Id : 92090610956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many number of rectangles are there in the following figure?

(1) 10 (2) 19
(3) 18 (4) 20
Options :

92090643273. 1
92090643274. 2
92090643275. 3
92090643276. 4

Question Number : 20 Question Id : 92090610957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090643277. 1
92090643278. 2
92090643279. 3
92090643280. 4

Question Number : 20 Question Id : 92090610957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090643277. 1
92090643278. 2
92090643279. 3
92090643280. 4



Question Number : 21 Question Id : 92090610958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named
as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthya (4) e-Nirvana
Options :

92090643281. 1
92090643282. 2
92090643283. 3
92090643284. 4

Question Number : 21 Question Id : 92090610958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named
as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthya (4) e-Nirvana
Options :

92090643281. 1
92090643282. 2
92090643283. 3
92090643284. 4

Question Number : 22 Question Id : 92090610959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15
Options :

92090643285. 1
92090643286. 2



92090643287. 3
92090643288. 4

Question Number : 22 Question Id : 92090610959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15
Options :

92090643285. 1
92090643286. 2
92090643287. 3
92090643288. 4

Question Number : 23 Question Id : 92090610960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India
(3) People of India {4) Constitutional Assembly
Options :

92090643289. 1
92090643290. 2
92090643291. 3
92090643292. 4

Question Number : 23 Question Id : 92090610960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India
(3) People of India {4) Constitutional Assembly
Options :

92090643289. 1
92090643290. 2
92090643291. 3



92090643292. 4

Question Number : 24 Question Id : 92090610961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
eollahoration with French Space Agency (NES) hy year 20257

(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4)  Venus Mission

Options :

92090643293. 1
92090643294. 2
92090643295. 3
92090643296. 4

Question Number : 24 Question Id : 92090610961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
enllahoration with French Space Agency (NES) hy year 20257
(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4) Venus Mission

Options :

92090643293. 1
92090643294. 2
92090643295. 3
92090643296. 4

Question Number : 25 Question Id : 92090610962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Quarter crystals used in quarters clock are chemically: -
(1) Germanium oxide
(2) Silicon dioxide
(3) sodium silicate
(4)  mixture of germanium oxide and silicon dioxide

Options :
92090643297. 1



92090643298. 2
92090643299. 3
92090643300. 4

Question Number : 25 Question Id : 92090610962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Quarter erystals used in quarters clock are chemically: -

(1) Germanium oxide

(2) Silicon dioxide

(3) sodium silicate

(4) mixture of germanium oxide and silicon dioxide
Options :
92090643297. 1
92090643298. 2

92090643299. 3
92090643300. 4

Part B: Library and Information Science

Section Id : 920906218
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906358
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090610963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who invented the Browne charging system?

(1) Dick-man A. Browne (2) Ralph A. Browne
(3) Rina E. Browne (4) Nina E. Browne
Options :

92090643301. 1
92090643302. 2
92090643303. 3
92090643304. 4

Question Number : 26 Question Id : 92090610963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIS TA-FTA YorTed! &1 snfaser fbem faar ur?

(1) fEE-Aau e 2) Ie® T I
3) s §eA 4) T AT
Options :

92090643301. 1
92090643302. 2
92090643303. 3
92090643304. 4

Question Number : 27 Question Id : 92090610964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is important in relation to third law of library science?

(1) Size of the library (2) Charging system
(3) Publicity (4) Growth of collection
Options :

92090643305. 1
92090643306. 2
92090643307. 3
92090643308. 4

Question Number : 27 Question Id : 92090610964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GHIsTad i[9 & gdig Fram & Ydy & Fofatad 3§ 3 o 91 a@ Teayui 82

(1) Q&IPbIad &I HR 2) rm-fFfe gomedt
(3) UER-TER (4) TR HAEG
Options :

92090643305. 1
92090643306. 2
92090643307. 3
92090643308. 4

Question Number : 28 Question Id : 92090610965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the chairman of working group on libraries in 1964 to formulate comprehensive

programme for the development of public libraries with due emphasis on children and Rural
libraries appointed by planning commission?

(1) A.C. Dickinson (2y B.H. Mehta
(3 V.K.R.V. Rao (4) S.R. Ranganathan
Options :

92090643309. 1
92090643310. 2
92090643311. 3
92090643312. 4

Question Number : 28 Question Id : 92090610965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aol HTOF §RI &ldd] Ud UTHIY QEdTerd] 91 o UaH &4 & iU ags faer aded
od a4 1964 T eIl & HRIGR] WHE &1 feae fbd Frgaa favan man ur?

(1) CHl. fefe= (2) dlud Agdl
3) diP.RdlL T4 4) TH. R TEIYA
Options :

92090643309. 1
92090643310. 2
92090643311. 3
92090643312. 4

Question Number : 29 Question Id : 92090610966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Before independence the National Library of India was known as

(1) Library of India (2) Imperial Library
(3 British Library (4) Indian Library
Options :

92090643313. 1
92090643314. 2
92090643315. 3
92090643316. 4

Question Number : 29 Question Id : 92090610966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T A gd, YR APy GiepTerd 1 b ATH 9 ST S

(1)  HRd DI Jxdde™d (2) el GIbIed
3) Tefewr qxaerem (4) MY G&IBTed
Options :

92090643313. 1
92090643314. 2
92090643315. 3
92090643316. 4

Question Number : 30 Question Id : 92090610967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not the kind of library committee?

(1) Self perpetuating committee (2) Rolling committee
5] Recommending committee (4) Executive committee
Options :

92090643317. 1
92090643318. 2
92090643319. 3
92090643320. 4

Question Number : 30 Question Id : 92090610967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafed & & $F 91 gaTad afifd &1 UeR T8 82

(1) Ewrdh el (2) k! Qe wfAfa
(3) o< wAfd (4) ®HHN g
Options :

92090643317. 1
92090643318. 2
92090643319. 3
92090643320. 4

Question Number : 31 Question Id : 92090610968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Paul Otlet and Henri La Fontaine has initiated the organization

(1) IFLA (2) LA
(3) FID (4) ASLIB
Options :

92090643321. 1
92090643322.2
92090643323. 3
92090643324. 4

Question Number : 31 Question Id : 92090610968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UTet sffecie SR g o i A FRafefed # @ few dre & w=sird 1 2

(1) SEUGTAU(IFLA) (2) TAU(LA)
3) UBIEI (FID) (4) TTHUA S (ASLIB)
Options :

92090643321. 1
92090643322. 2
92090643323. 3
92090643324. 4

Question Number : 32 Question Id : 92090610969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who has defined “Management is the art of getting things done through and with
informally organized group™

(1) George R. Henry (2) Harold Koontz
(3) Lawerence Appley (4) Peter F. Drucker
Options :

92090643325. 1
92090643326. 2
92090643327. 3
92090643328. 4

Question Number : 32 Question Id : 92090610969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafeaa & @ fFaa gg uiluiftd fean i -« udem sHvaie wu 3 dfda wig & mred
T T IS Y T B U B DI Hall g ?

(1) ool 3R & (2) IS Too
(3) AR (4) UIeR UB FIR
Options :

92090643325. 1
92090643326. 2
92090643327. 3
92090643328. 4

Question Number : 33 Question Id : 92090610970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘International who's who' is an example of

(1) Biographical source (2) Bibliographical source
(3) Geographical source (4) Eduecational source
Options :

92090643329. 1
92090643330. 2
92090643331. 3
92090643332. 4

Question Number : 33 Question Id : 92090610970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SHRRIPI Sita! it Fafifad &1 e IarRu 3

(1)  Sifgd 9Rd Wi (2) UYRS WId
3)  Hifee Wi (4) Dféve @
Options :

92090643329. 1
92090643330. 2
92090643331. 3
92090643332. 4

Question Number : 34 Question Id : 92090610971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Reference Service’ has been defined as direct aid to library users who need a
particular book or who need some information embodied in any book by :

(1) 5.5, Green (2) A.G.Rugh
(3) B.M. Robinson (4) William A. Katz
Options :

92090643333. 1
92090643334. 2
92090643335. 3
92090643336. 4

Question Number : 34 Question Id : 92090610971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafatad # 9 fowa e Jar &1 39 gased Sudiadisi & e Ude geradl & ¥4 o
e far g, o fadl fady qeas a1 el qeas & AR $@ Ya1 #1 srawaddl
gl g 2

(1) THTE I+ (2) UslEy"
(3) e uHIEE (4) faferan uapred
Options :

92090643333. 1
92090643334. 2
92090643335. 3
92090643336. 4

Question Number : 35 Question Id : 92090610972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

NISCAIR was formed on 30th September 2002 by merging

(1) NISTAD and NIC (2) NISCOM and INSDOC
(3) NISCOM and CSIR (4) INSDOC and DESIDOC
Options :

92090643337. 1
92090643338. 2
92090643339. 3
92090643340. 4

Question Number : 35 Question Id : 92090610972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafaa & ¥ fea® faay gr1 30 RdeR 2002 # ARSI (NISCAIR) &1 T84 b
T o ?

(1) +ReT8 3R U 3115 | (NISTAD and NIC)
(2) T 3R $¥S1d (NISCOM and INSDOC)
(3) Fem 3R It Ty 31 3R (NISCOM and CSIR)

(4) FESIP 3R SHISIPH (INSDOC and DESIDOC)

Options :

92090643337. 1
92090643338. 2
92090643339. 3
92090643340. 4

Question Number : 36 Question Id : 92090610973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Worldeat’ is a product of

(1) JANET (2) OCLC
(3) INFLIBNET (4) LASER
Options :

92090643341. 1
92090643342. 2
92090643343. 3



92090643344. 4

Question Number : 36 Question Id : 92090610973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

deade Fofiad o 9 feue g g ?

(1) ©He (JANET) (2) SfaE (ocLo)
(3)  SpBfei@dc (INFLIBNET) (4) TG (LASER)
Options :

92090643341. 1
92090643342. 2
92090643343. 3
92090643344. 4

Question Number : 37 Question Id : 92090610974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these is not the component of SDI system?

(1) User Profile (2) Document Profile
(3) News Clipping (4) User Interface
Options :

92090643345. 1
92090643346. 2
92090643347. 3
92090643348. 4

Question Number : 37 Question Id : 92090610974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e i A S s dIFI Ucs A A el 6 ?

(1)  IUdiad WHTsd (F0E) (2) Ve EuEl
(3) HHMER $awA (g fEaf) (4) IuYleT 3aIYY
Options :

92090643345. 1
92090643346. 2
92090643347. 3
92090643348. 4



Question Number : 38 Question Id : 92090610975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the originator of Bibliographic classification (B.C. 1944-1953)?

(1) Melvil Dewey (2) H.E. Bliss
(3) J.D. Brown (4) ML.P. Satija
Options :

92090643349. 1
92090643350. 2
92090643351. 3
92090643352. 4

Question Number : 38 Question Id : 92090610975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty — g Heel iRl ( BC, 1944-1953) & TS A & ?

(1) HAfcad fedl 2) a3 fsw
3) W3 a3 (4) THU. TS
Options :

92090643349. 1
92090643350. 2
92090643351. 3
92090643352. 4

Question Number : 39 Question Id : 92090610976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Notation of UDC is almost with Arabic numerals having their own
inherent ordinal value.

(1) Pure (2) Mixed
(3) Pure and mixed (4) TFlexible
Options :

92090643353. 1
92090643354. 2
92090643355. 3
92090643356. 4



Question Number : 39 Question Id : 92090610976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g 1 I &1 B 39 WY & Sfa-iled HHYID T ITd SR 3BT & T1Y TIH
gl §

1 U (2) afs@
3) < Ud g (4) -9
Options :

92090643353. 1
92090643354. 2
92090643355. 3
92090643356. 4

Question Number : 40 Question Id : 92090610977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Filing the catalogue cards is an important step in the of catalogues.
(1) Security (2) Access
(3) Maintenance (4) Organisation

Options :

92090643357. 1
92090643358. 2
92090643359. 3
92090643360. 4

Question Number : 40 Question Id : 92090610977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T U B HHRIYA Y & 1 U& Hgayul TRUI ¢ :

(1) W& (2) i
(3) M —TMId ( SIE) (4) A9
Options :

92090643357 1
92090643358. 2
92090643359. 3
92090643360. 4



Question Number : 41 Question Id : 92090610978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many core elements of Dublin Core as on 20227

(1) 16 (2) 18
(3) 20 (4) 22
Options :

92090643361. 1
92090643362. 2
92090643363. 3
92090643364. 4

Question Number : 41 Question Id : 92090610978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 2022 d% Sgdie- R & o dd fbad 4 ?

(1) 16 2) 18
3) 20 4) 22
Options :

92090643361. 1
92090643362. 2
92090643363. 3
92090643364. 4

Question Number : 42 Question Id : 92090610979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Canon of Recall value was propounded in 1969 by

(1) C.A. Cutter (2) Melvil Dewey
(3) H.E. Bliss (4) S.R. Ranganathan
Options :

92090643365. 1
92090643366. 2
92090643367. 3
92090643368. 4

Question Number : 42 Question Id : 92090610979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

UdTgaH A HATH &1 ufdure ay 1969 H fea- fesar ur 2

(1) WL FR (2) Wt f&dt
3) Uas. f&w (4) TH.HR. TEYE
Options :

92090643365. 1
92090643366. 2
92090643367. 3
92090643368. 4

Question Number : 43 Question Id : 92090610980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Record of the books in a library arranged in the order in which they stand on the

(1) Cabinet (2) Book Tray
(3) Circulation (1) Shelves
Options :

92090643369. 1
92090643370. 2
92090643371. 3
92090643372. 4

Question Number : 43 Question Id : 92090610980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faril o § Rad] & S & aieud i H, forad g TR ! gl @
|

(1) A 2) JHd T
3) ulREEE (4) Uew (FAur)
Options :

92090643369. 1
92090643370. 2
92090643371. 3
92090643372. 4



Question Number : 44 Question Id : 92090610981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The structure of main classes in DDC is based on the order of Francis Bacon's ‘Chart

of Learning’ as inverted and modified by 1870.

(1) W.H. Harris (2) Paul Otlet

(3) S.R. Ranganathan (4) C.A. Cutter
Options :

92090643373. 1
92090643374. 2
92090643375. 3
92090643376. 4

Question Number : 44 Question Id : 92090610981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St 81 4t 7 e avif &1 S Bifiy 9 & SffET 91e & ohH R e g o ad 1870
W I eNidspd Ud WRnfed faear Ot

(1) Sog, ua g (2) U sfiede
(3) UHAR THEYA 4) WU HT
Options :

92090643373. 1
92090643374. 2
92090643375. 3
92090643376. 4

Question Number : 45 Question Id : 92090610982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The UDC has been published under the ages of British Standards Institution (BSI),
the National Standardisation of

(1) USA (2) Canada
(3) France (4) UK
Options :

92090643377 1
92090643378. 2
92090643379. 3
92090643380. 4



Question Number : 45 Question Id : 92090610982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g St Ul &1 UBEH AP AHES TS, fafewr Ae JH (8 S 1) & daEyH |
g3 Ul

(1) Juuyg (2) PTEl

3) W 4 4F

Options :

92090643377. 1
92090643378. 2
92090643379. 3
92090643380. 4

Question Number : 46 Question Id : 92090610983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mode of transmission, where message travels in only one direction is called :

(1) Simplex (2) Duplex
(3) Half Duplex (4) Full Duplex
Options :

92090643381. 1
92090643382. 2
92090643383. 3
92090643384. 4

Question Number : 46 Question Id : 92090610983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIRY B I8 Ay, PR &= Haw v fxn # o 91 8, 38 Hel ol 6 :

(1) e (2) SwHd
(3) ©I% gWhd 4) Pd geidd
Options :

92090643381. 1
92090643382. 2
92090643383. 3
92090643384. 4



Question Number : 47 Question Id : 92090610984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the major aim of RRELF?

(1) To promote the Library Consortia
(2) To promote the ILL
(3) Promote and support special libraries
(1) Promote and support public library movement
Options :
92090643385. 1
92090643386. 2
92090643387. 3
92090643388. 4

Question Number : 47 Question Id : 92090610984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HR AR AR T UH (RRRLF) P UE AT 1 g ?

(1) QiIbIad U9 &l Uicdlied B

(2)  off§ UQ Ud $I Uiifed ST

3) 4w gEasdTerdi 31 Uicirgd Ud HYH UgH Sl

(4)  GAWHS qEAGTad gIa &l Uiede Td T UeH &l

Options :

92090643385. 1
92090643386. 2
92090643387. 3
92090643388. 4

Question Number : 48 Question Id : 92090610985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a function of Aequisition Section?

(1) Selection (2) Accession
(3) Order (4) Classification
Options :

92090643389. 1



92090643390. 2
92090643391. 3
92090643392. 4

Question Number : 48 Question Id : 92090610985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty 11 &1 drd Frafafad H A s el g 2

(1) =g 2) ui™gu
(3) HUG™ (4) @l
Options :

92090643389. 1
92090643390. 2
92090643391. 3
92090643392. 4

Question Number : 49 Question Id : 92090610986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is a technique to examine the state of information resources, bhoth
quantitatively and qualitatively in certain subject and helps in identifying strengths
and weaknesses of a certain fixed collection.

(1) Collection building (2) Collection mapping
(3) Citation analysis (4) Currency analysis
Options :

92090643393. 1
92090643394. 2
92090643395. 3
92090643396. 4

Question Number : 49 Question Id : 92090610986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fapdt fawa & wETeTss Ud Tuned ST U H YA ST DI 3T F udia $
yfaft g R gg fexl AYd Gug & wad td gaa uall &1 Rifed o= # gerd &3dl &
(1) WIRUderR (2) TRl fE
(3)  Ig0r fazeimo 4) Udd fagawo



Options :

92090643393. 1
92090643394. 2
92090643395. 3
92090643396. 4

Question Number : 50 Question Id : 92090610987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who introduced the term scientific management?

(1) Herbert A. Simon (2) Louis Brandeis
(3) Chester Barnard (4) Peter Drucker
Options :

92090643397. 1
92090643398. 2
92090643399. 3
92090643400. 4

Question Number : 50 Question Id : 92090610987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP e Ug &1 Sy e a1 2

(1) gde uRmE (2) YIS
(3) RIS (4) TR
Options :

92090643397. 1
92090643398. 2
92090643399. 3
92090643400. 4

Question Number : 51 Question Id : 92090610988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who took initiative towards the formation of JOCLAI to coordinate the activities of
national and state level library associations?

(1)  RRRLF 2) ILA
(3) IATLIS (4) TASLIC

Options :



92090643401. 1
92090643402. 2
92090643403. 3
92090643404. 4

Question Number : 51 Question Id : 92090610988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IS Ud I WY YRaebIerd 89 &1 Tfafafidl & grau & o siieas (JOCLAN & 16
P! Ugd fHy- o1 ?

(1) RRRLF (3R 3R 3R Ud U) (2) ILA (3B TA )
(3)  IATLIS (3115 U 31 Ud 311 uh) (4) IASLIC (311§ U TH U 3fT$ )
Options :

92090643401. 1
92090643402. 2
92090643403. 3
92090643404. 4

Question Number : 52 Question Id : 92090610989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is used to make call number properly visible to the users when the book is
shelved?

(1) Ownership slip (2) Spine label
(3) Book pocket (4) Book card
Options :

92090643405. 1
92090643406. 2
92090643407. 3
92090643408. 4

Question Number : 52 Question Id : 92090610989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e e Yo (Fre) & @ gl € df Sudiddiel 31 Hid AR FHHd ¥4 9§ SXHE gH

& foru FofoRad # 9 fege yar i o 8

(1) W@d =l (2) TS () 9W ferodt
(3) U&I@ Ulde 4) JES Ble
Options :

92090643405. 1
92090643406. 2
92090643407. 3
92090643408. 4

Question Number : 53 Question Id : 92090610990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has introduced first electrically operated book charging system?

(1) Ulveling (2) Newark
(3) Browne (1) Gaylord Brothers
Options :

92090643409. 1
92090643410. 2
92090643411. 3
92090643412. 4

Question Number : 53 Question Id : 92090610990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofifed & | fFa aduyn faya Saied qeae gl 9 id &1 sy e 2

(1)  Ieafeq (2) Adrb
3) STt 4) e sy
Options :

92090643409. 1
92090643410. 2
92090643411. 3
92090643412. 4

Question Number : 54 Question Id : 92090610991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are not the source from where library usage data are collected?

(1) Create register

(2)  Library circulation counter

(3)  Books and periodicals shelving

(4)  Classification register to register the work of classifier
Options :
92090643413. 1
92090643414. 2

92090643415. 3
92090643416. 4

Question Number : 54 Question Id : 92090610991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad § 4 98 Wid &F w1 78 & oel ¥ [aaray Iudi S1el UHhd 68 oI 8 2

(1) =AU (fhue ey

(2) YIHd gREmEd ued

(3) Y& Ud gt 9y fa=rA

(4) FHWHR & S Uoiav & for Frifeur ufereT

Options :

92090643413. 1
92090643414. 2
92090643415. 3
92090643416. 4

Question Number : 55 Question Id : 92090610992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following falls under category of National Library of a country?

(1) National Chemical Laboratory Library
(2) Indian Institute of Public Administration of Library
(3)  The British Library
(4) Central Building Research Institute Library
Options :
92090643417. 1

92090643418. 2
92090643419. 3



92090643420. 4

Question Number : 55 Question Id : 92090610992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&% & AP GEabTerd i 9ot & siarfa Fafafad 79 oF @ e g 2

(1) IEH IEEFAE GG e

(2) R die Y TR YEiDIed

3)  fofewr qaerer™ (< fafesr amgsi

(4)  Buid HaA Fafu sy SR gEeTad

Options :

92090643417. 1
92090643418. 2
92090643419. 3
92090643420. 4

Question Number : 56 Question Id : 92090610993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is an organized factual, statement of the duties and responsibilities of a

specific job.

(1) Job enrichment (2) Job design
(3)  Job analysis (4) Job description
Options :

92090643421. 1
92090643422. 2
92090643423. 3
92090643424. 4

Question Number : 56 Question Id : 92090610993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt fafdy o1 & Sl Ud IR &1 GoIaid TR HUF § :

(1) & dadq (2) M P
3) o] fagemo (4) P faawo

Options :



92090643421. 1
92090643422. 2
92090643423. 3
92090643424. 4

Question Number : 57 Question Id : 92090610994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mechanism to send message in many directions with minimum delay is known as

(1) Modem (2) Switching
(3) Bandwidth (4) Modulation
Options :

92090643425. 1
92090643426. 2
92090643427. 3
92090643428. 4

Question Number : 57 Question Id : 92090610994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W e & A1y 3w sl # Wawr Jwvl &t darael e 8

(1) HisH (2) feafm
3) dsfagy (4) HISAIH
Options :

92090643425. 1
92090643426. 2
92090643427. 3
92090643428. 4

Question Number : 58 Question Id : 92090610995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Celebration of local festivals in a library is an example of

(1) Extension service (2) Current Awareness Service
(3)  Referral service (1) Reference service
Options :

92090643429. 1



92090643430. 2
92090643431. 3
92090643432. 4

Question Number : 58 Question Id : 92090610995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[l g | RIF U4l (Icqdl) &1 SHRIg T Ffdiiad & 9 s 3eeu g ?

(1) fOwR dar (2) TS SFREEAl Hdl
3) FoR® dar (4) Heo Far
Options :

92090643429. 1
92090643430. 2
92090643431. 3
92090643432. 4

Question Number : 59 Question Id : 92090610996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is concerned with providing reading guidance to individuals.

(1) Reprography Service (2) Information Retrieval
(3) Referral Service (1) Reader’s advisory Service
Options :

92090643433. 1
92090643434. 2
92090643435. 3
92090643436. 4

Question Number : 59 Question Id : 92090610996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfpad] &1 93 HexH UaH $3- 3 9diUd 6 -
(1)  wufdfcrfoesor dar (2) I g
3) Fdew® dan (4) UTEH RIS Tar

Options :
92090643433. 1



92090643434. 2
92090643435. 3
92090643436. 4

Question Number : 60 Question Id : 92090610997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tool which facilitates the user to save links to web pages that they want to
remember and share with other users,

(1) Tag (2) Social Bookmark
(3) Blog (4) Wikis
Options :

92090643437 1
92090643438. 2
92090643439. 3
92090643440. 4

Question Number : 60 Question Id : 92090610997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg WItH (&id) S Iudiadis B 3 a9 Uoll & feidl &1 Ridd A & o g &1 d1 &,
g 9 gTe; Wa1 Iyl 3= IuAIEdIsi & 91y | 31 9I6d 6, deardi g :

(1) e (2) WA gHHTD
(3) & 4) faoe
Options :

92090643437. 1
92090643438. 2
92090643439. 3
92090643440. 4

Question Number : 61 Question Id : 92090610998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among these 1s not the mode of document delivery service ?

(1) Supplying the documents from library collection itself
(2) Obtaining documents from other libraries on ILL
(3) Referring users to some other libraries

(4)  Accessing and downloading web based documents

Options :

92090643441. 1
92090643442. 2
92090643443. 3
92090643444. 4

Question Number : 61 Question Id : 92090610998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefad # 4 o uew gudih da1 i faf 1€ 8 2

(1)  YRaobled 998 9 Uad &1 SMydl Al

(2) M UG Ud & 31 QRdbTerdl § UaRd UTd ST
(3) U BT fF o= YEdehTay Herl

(4)  oF MR USE! &1 AMATHATE SI3aIS Bl

Options :

92090643441. 1
92090643442. 2
92090643443. 3
92090643444. 4

Question Number : 62 Question Id : 92090610999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among these classified documents into three categories, 1.e., primary, secondary
and tertiary?

(1) W. Hanson (2) Denis Grogan
(3) S.R. Ranganathan (4) Willlam A. Katz
Options :

92090643445. 1
92090643446. 2
92090643447. 3
92090643448. 4



Question Number : 62 Question Id : 92090610999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofefEg & 9 59 uawl &1 34 aftr srufd urufts, iidiae ok gdios d Tiffed
farar 2

(1) S&g g8 (2) S arE
(3) UHR THEYH (4) faferowu &res
Options :

92090643445. 1
92090643446. 2
92090643447. 3
92090643448. 4

Question Number : 63 Question Id : 92090611000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The technique to facilitate search for multiple endings of a world 1is called

(1) Proximity search (2) Phrase search
(3)  Truncated search (4) Field search
Options :

92090643449. 1
92090643450. 2
92090643451. 3
92090643452. 4

Question Number : 63 Question Id : 92090611000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fft 2reg & 8 SideR & fon Wi &1 ga a1 &1 ufafd seard 8 -

(1) g g (2) dETHD G
3) SRaEw 4) &F "
Options :

92090643449. 1
92090643450. 2
92090643451. 3



92090643452. 4

Question Number : 64 Question Id : 92090611001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The search engine ‘Bing’ was launched by

(1) Yahoo (2) Microsoft
(3) Google (4) Apple
Options :

92090643453. 1
92090643454. 2
92090643455. 3
92090643456. 4

Question Number : 64 Question Id : 92090611001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEhT gd3oH [Has gR1 AR o o1 2

(1) dig (2) WISHIEE
(3) TP (4) T
Options :

92090643453. 1
92090643454. 2
92090643455. 3
92090643456. 4

Question Number : 65 Question Id : 92090611002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A well informed professional in a particular field acting as intermediary between
information source and information seeker is known as

(1) Extension worker (2) Resource Person
(3) Technological gatekeeper (4) Expert
Options :

92090643457 1
92090643458. 2
92090643459. 3



92090643460. 4

Question Number : 65 Question Id : 92090611002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forit fadiy & | iy GYiad srequrd a1 Wid iR a1 3-d8d 31 did HER & €Y

(1) SR sriEal (2) TE1EE verar Afed
(3) UUrfie gRUE @HAanied edhr) 4) Guwg
Options :

92090643457 1
92090643458. 2
92090643459. 3
92090643460. 4

Question Number : 66 Question Id : 92090611003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The malicious computer program, which copies itself over and over, eventually
causing the computer to crash

(1) Trojan Horse (2) Bomb
(3) Worm (4) Spam
Options :

92090643461. 1
92090643462. 2
92090643463. 3
92090643464. 4

Question Number : 66 Question Id : 92090611003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg guiayul @R Fer UM ot §R - §R S0 39 BTt Hdl ¢ Tl idd: dR
I VI PR &A1 8, TE 8 -

(1) 2o 89 (Trojan Horse) (2) ®IF (Bomb)
(3)  dM (worm) (4) TH ( spam)

Options :



92090643461. 1
92090643462. 2
92090643463. 3
92090643464. 4

Question Number : 67 Question Id : 92090611004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other 1s

labelled as Reason (R) :

Assertion (A): The Normative Principles of cataloguing have been recognized for a
long time and have proved to be highly useful. These have provided a

scientific basis to the field of cataloguing.

Reasons (R): These can serve as the basis of a catalogue code providing guidelines

to the designer of a catalogue code.

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

92090643465. 1
92090643466. 2
92090643467. 3
92090643468. 4

Question Number : 67 Question Id : 92090611004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g1 HYA 3T 70 §: US SifieyA A 3R 9% R M@ & By RO T

HHBHYT A - YYD & HHS Y Rigid 9gd ygd § HI=gdl U § aul srids Iugrit
¥ gU T | S UGl & & BT aqi-d SAIUR WY T |

dF R: g gyl digdl & Fafdrsh & e yaEiswo digar ueras famn - Rdw
& YR F T § AHSTS 81 Thd ¢

Iudd Syl & Sfare o, A U T Adedl & 8wl 98l 3w gy

(1) A SIRREHI Ugl € 3R R, A DI gl ARSI &

2) A SRR EH 9E € AfdA R A B UE AN Tl ©
3) AWSE PgrReC?

(4) ATAAE [PIRULE

Options :

92090643465. 1
92090643466. 2
92090643467. 3
92090643468. 4

Question Number : 68 Question Id : 92090611005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : Chained libraries in the middle ages which imply that the books were
actually fastened to the book shelves with iron chains like dangerous

prisoners who were not allowed to go out of their cells.

Reasons (R):  Books are for use and not for preservation

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

92090643469. 1
92090643470. 2
92090643471. 3
92090643472. 4

Question Number : 68 Question Id : 92090611005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A offiipyA A SR T R S o YA AT &
HYBHYT A . AHDI P YEifad GPpladl ¥ g @fd gidl & & arsad d gxds g9 9e®

T @A Hiedl &1 a¥e dle P sieikl J Sdat Jedl 4t 58 o Ja 4
TR 1 1 Sk A8l gl it

Tdb R: Q¥ JUART & o gl 8, 71 &1 W o3 & ferg
Sudd HYAl & SMar® §, A1 3 T Adedl & 8 Tad g8l 3w g

(1)
(2)
(3)
(4)

A 3R R GFT U8l & SR R, A 91 Wt arem 7

A 3T R S U8l €, i R, A B Uel oARa el &
AEl g, PR @

AT & fFdREET R

Options :

92090643469. 1
92090643470. 2
92090643471. 3
92090643472. 4

Question Number : 69 Question Id : 92090611006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One is labelled as Assertion (A) and the other 1s

labelled as Reason (R) :

Assertion (A): Delayved discharging of books is done in ecase of lot of rush on the

return counter.

Reasons (R): In open access libraries, the members have to give a requisition ship

at the counter.

In the light of the above Statements, choose the most appropriate answer from the

options given below :

(1)
)
(3)
)

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(A) 1s correct but (R) is not correct

(A) 1s not correct but (R) 1s correct

Options :



92090643473. 1
92090643474. 2
92090643475. 3
92090643476. 4

Question Number : 69 Question Id : 92090611006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 sifHHY A SR 76 R THE & HUF RA T &:

HHBYT A : 99l Oed W IS Mg &l g # qs! &1 fddifad 3= (Eas
fEwnfonT) fan Sran 8

dd R: ety s QaeTad § ewl @I yed W #iv udf &1 il §
Suddd Syl & faie §, i U e fdewedi & ¥ Tl wel 3o 9

(1) A SRR THI U8l & 3R R, A I Ugl oIS &

(2)  ASIRREH UE E AfFT R A T U rEm A 8
3) AWSE PgRIEIR

4) A'ddg [FgRESE

Options :

92090643473. 1
92090643474. 2
92090643475. 3
92090643476. 4

Question Number : 70 Question Id : 92090611007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : The development in computer and telecommunication technologies

have a direct impact on OPAC.

Reasons (R): OPAC allows any member to search the catalogue database remotely.

In the light of the above Statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

92090643477. 1
92090643478. 2
92090643479. 3
92090643480. 4

Question Number : 70 Question Id : 92090611007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 HfHpY A 3R T R TS G HY RAT 2:

YFYT A : SR 3R IR e H fAdH™ &1 iU (OPAC) TR Udel UHTd §

dd R: e fHdl W W &1 Uy FU ¥ yydl B @ $ oAl ugH
®Hdl &

Sudd Sl & Sfare o, A4 3 T awedl # 8 ¥ad 981 3| gAY

(1) ASRRGH Tel g IR R AP Ul AR &
(2) A SRR Tl € AfF R, A BI HE! RS 81 &
3) AWEIE FgRTEAE
(4) ATEAE, PgRIEE
Options :
92090643477. 1
92090643478. 2



92090643479. 3
92090643480. 4

Question Number : 71 Question Id : 92090611008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) :  While under training in England, Ranganathan made a close study of
the principle classification schemes then existing. He was not
satisfied with any of them and wanted to devise a scheme of his own.

Reasons (R): Ranganathan get the idea of analytic-synthetic structure of a
classification scheme and developed a classification scheme which is
called colon classification.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(1) (A) is false but (R) is true

Options :

92090643481. 1
92090643482. 2
92090643483. 3
92090643484. 4

Question Number : 71 Question Id : 92090611008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3ffifwYA A 3R dd R TS &l HYHE YW §:
HYFYTA ;v H YRS I HRd G JHEA A 39 994 faymH ug@ arffeo

Ui &1 di 31ergH fahar or | 3 39 9 64t 3 +ft dgp =& 9 &R ot
Y & TP Yl BT MASPR BT 8d U |

dd R: T BT I HIA9gTdS aifeeul TEAl Ugid &1 [G9R e sk

I8 BT B ATHS U TR0 Ugd f[asRig &

Juddd HYAl & Sfais §, i 3T e fawedi 3 ¥ gl IR 9

1)
)
3)
(4)

[t

(
(
(

A 3R R T WE1 € SR R, A B WE SR §

A 3 R S U8l €, dfch R, A B Ue! RS &l 8
AR E, PR §

ATTeId 8, g R WE1 @

Options :

92090643481. 1
92090643482. 2
92090643483. 3
92090643484. 4

Question Number : 72 Question Id : 92090611009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

Assertion (A): UNIX and LINUX are open source softwares.

Reasons (R): Both the operating system softwares were developed by AT & T

information system.

In the light of the above Statements, choose the correct answer from the options given
below :

(1)
(2
(3)
4)

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true

Options :
92090643485. 1
92090643486. 2



92090643487. 3
92090643488. 4

Question Number : 72 Question Id : 92090611009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H1d 3{fHHY A 3R dh R AW & HyH AT &:
YSHYF A - g 3R Az [Faly Wid (3fiu 61) Wiredm 8

dd R: ol SToRfeT Rrew diteaar T8 T & (AT&T) g1 wumrel gR1 fasfa f6d
Y|

Juddd YAl F a3, A1 U mu e I | vl wel 39w 9y

(1) A3RRIH TS € SRR AP el AAT &

(2) A SRR T UEl € W R, A Bl Uel AR ol &
3) AUSE RBgRIEAR

(4) ATAdE [PIRULE

Options :

92090643485. 1
92090643486. 2
92090643487. 3
92090643488. 4

Question Number : 73 Question Id : 92090611010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following modes of formation of subjects and isolates :
(A) Fusion

(B) Lamination

(C) Loose assemblage

(D)  Fission

(E). Diastillation

Choose the correct answer from the options given below :

1) (A (), (D), (E), (B) (2) (B), A), (C), (D), (E)
@3 @), (B), (E), (C), (A) 4 (), (B), (D), (A), (E)



Options :

92090643489. 1
92090643490. 2
92090643491. 3
92090643492. 4

Question Number : 73 Question Id : 92090611010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fawai va fadiere & due @t Fafafad il @i srafua i

A. TS

NG

. e () we

EICEE!

. SEdd

A3 2 A Rieedt f ¥ T8 IR IR

(1) ACDERB 2 BACDE

(3) D,BEC.A 4 C,B,D,AE

m g N o

Options :

92090643489. 1
92090643490. 2
92090643491. 3
92090643492. 4

Question Number : 74 Question Id : 92090611011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the alphabetical catalogues based on their types
(A)  Title catalogue

(B) Author catalogue

(C) Dictionary catalogue

(D)  Subject catalogue

(E) Name catalogue

Choose the correct answer from the options given below :

1) (A), (©), (D), (E) (B) (2) (B), (A), (D), (C), (E)
3)  (B), A, (E), D), (C) 4) (O), (B), (A), (D), (E)
Options :

92090643493. 1
92090643494. 2
92090643495. 3
92090643496. 4

Question Number : 74 Question Id : 92090611011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafad quis e wiRd &1 396 UHRI R S1URd sHH # afyd Sifo:-

A. YN (3M1%T) Ut
B. WG W[H!

C. Ysadh Y Ul
D. fawa vyt

E. A Ul

Ard 13 M fadbedi # 4 Hel SR gFa
(L ACDERB

20 B,ADCE

(3 B,AEDC

(490 C,B,A,DE

Options :
92090643493. 1
92090643494. 2



92090643495. 3
92090643496. 4

Question Number : 75 Question Id : 92090611012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the acts in ascending order as per time enactment.

(A) Delivery of Books and Newspaper Act
(B) Maharashtra Public Libraries Act

(C) West Bengal Public Libraries Act

(D) The Indian Copyright Act

Choose the correct answer from the options given below :

(1) (B), (D), (A). (C) (2) (C), D), (B), (A)
(3)  (A), (D), (B), (C) 4) (D), (B), (A), (C)
Options :

92090643497. 1
92090643498. 2
92090643499. 3
92090643500. 4

Question Number : 75 Question Id : 92090611012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRaa sl @1 3@ iU & SR SR &3 ¥ sAaiid $ifo ;

D. YR ufdferaniesr sifafaam

i o T fadedt § 9 Wl SR g
(1) B.D,AC
(2 C,D,B,A

(3 A DB,C
N EBAD



Options :

92090643497. 1
92090643498. 2
92090643499. 3
92090643500. 4

Question Number : 76 Question Id : 92090611013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the periods of management thought development according to Edward Evans
in ascending order :

(A) Human Relations period
(B) Synthesis period
(C) Scientific Management period

(D)  Pre-scientific period

Choose the correct answer from the options given below :

1) (B), D), (©C), &) (2 (©), (A), (D), (B)
3)  (B), (C), (A), (D) 4) (D), (O), (A), (B)
Options :

92090643501. 1
92090643502. 2
92090643503. 3
92090643504. 4

Question Number : 76 Question Id : 92090611013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



USas 39 & SFHR UaeH faaR fasr sramaftl &1 sRig &1 o syafeyd Siferd:
A. HFG Gy BT
B. YAy &1
C. dF1FP Ydy= HTa
D. gd - 39S H1a
I e W el A 9 w9 I g

(1) B.D,CA

(2) C,AD,B,
(3 B, CAD,
49 DCAB

Options :

92090643501. 1
92090643502. 2
92090643503. 3
92090643504. 4

Question Number : 77 Question Id : 92090611014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange in sequence, the steps of reference service process :
(A) Query Analysis

(B) Refining

(C) Searching

(D) Reference Interview

(E) Formulation of Search Strategy

Choose the correct answer from the options given below :

(1) D), @A), (E), B), (C) (2) (A), (E), (B), (D), (C)
3)  (B), (C), (A), (D), (E) 4) (A), (D), (B), (E), (C)
Options :

92090643505. 1
92090643506. 2
92090643507. 3
92090643508. 4



Question Number : 77 Question Id : 92090611014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ha Ja1 ufkan & JaHl S srhH H afeud Hiforg
A. T (J=31) fazeimur

ufRATSH

3490y

. G TSR

. 390 TOHITA &1 ufcrare

4 ) ) et 1 @ W SR g -

(1) D AEBC

m o 0w

@ AEBDC
3) BCADE
4 ADBEC

Options :

92090643505. 1
92090643506. 2
92090643507. 3
92090643508. 4

Question Number : 78 Question Id : 92090611015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the media of transmission according to their speed (Increasing order) :
(A) Coaxial Cables

(B) Twisted Pairs

(C) Microwave Transmission

(D)  Optical Fibre

(E) Satellite Transmission

Choose the correct answer from the options given below :

1) (W), B), D), (O), (E) (2) (B), (C), (A), (D), (E)
3)  (B), (A), (D), (C), (E) 4) (A), (B), (C), (D), (E)
Options :

92090643509. 1
92090643510. 2
92090643511. 3
92090643512. 4

Question Number : 78 Question Id : 92090611015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYR HifE1 &1 ITD! 1 F SFUR (SRIET HH H) sUafeyd Hifere

A. GHIE Had
B. dfdd g
C. H5HIad AR
D. USRS BIga
E. 3U9e §9R
49 f&d 7 fawedl | 9 wel SR g
() A BD,CE
(2 B,C,ADE
(3 B,ADCE
49 ABC, DE



Options :

92090643509. 1
92090643510. 2
92090643511. 3
92090643512. 4

Question Number : 79 Question Id : 92090611016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the year-wise development of catalogue codes :

(A)  Daziatizk Code

(B) Charles C. Jewelt Code

(C)  Rules of Dictionary Catalogue
(D) The Prussian Instructions

(E)  British Museum Code

Choose the correct answer from the options given below :

(1) (A, (Q), (D), (B), (E) (2) (E), (B), (C), (D), (A)
(3) (E), (A), (B), (C), (D) (4) (D), (B), (C), (A), (E)
Options :

92090643513. 1
92090643514. 2
92090643515. 3
92090643516. 4

Question Number : 79 Question Id : 92090611016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafeiea uRpE fear S 396 Ao g1 & 94 & uR afud Hiforg

A. foranfe® (Dziatizk) Hfgd

B. e Ut oide — wfgar

C. eIy (igshiien) e Fram
D. ufkmrs Adw

E. fofew duerey - dfean

A9 Rl ) Rieped! 72 T SRR

(1)
(2)
(3)
(4)

A CDBE
E.B.C.D A
EEABCD
DBCAE

Options :

92090643513. 1
92090643514. 2
92090643515. 3
92090643516. 4

Question Number : 80 Question Id : 92090611017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ ;

Statement I :

The Canon of recall value was propounded in 1979 by Ranganathan.
The i1dea of recall value was mentioned by Ranganathan in theory of
classified library catalogue.

Classified catalogue code follows the Canon. It prescribes author
heading as the heading of a main entry except when the work does
not have any author.

In the hight of the above Statements, choose the most appropriate answer from the
options given below :

(1)
2
3)
(4)

Both Statement [ and Statement Il are correct

Both Statement | and Statement Il are incorrect

Statement [ 1s correct but statement 11 1s incorrect

Statement [ is incorrect but statement Il is correct

Options :
92090643517. 1



92090643518. 2
92090643519. 3
92090643520. 4

Question Number : 80 Question Id : 92090611017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEEAEAIE U RIS
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BlgP orH Hid BT Dls dEd A g1, H= UlafP & e & 4§ dud & 94
&1 Uit fafed s g |

IR HYA & Acld H, g fGu v fasedl § 9 9gl IR &1 994 Sifeiw

(1) YIRS He1 g
(2) ®YF1 3R EHI T 8
(3) Y19 ©, Al YA 11 TTed B
(4) HYT| HGA g, Al HY 1 5L ©

Options :

92090643517. 1
92090643518. 2
92090643519. 3
92090643520. 4

Question Number : 81 Question Id : 92090611018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement I : A book number normally represents author, or it may represent vear
of publication.

Statement II : The call number indicates the position of a book on the shelf. It
constitutes the class number plus the book number including
collection number.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ 1s correct but statement 11 is incorrect

(4) Statement [ is incorrect but statement I is correct

Options :

92090643521. 1
92090643522. 2
92090643523. 3
92090643524. 4

Question Number : 81 Question Id : 92090611018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090643521. 1
92090643522.2
92090643523. 3



92090643524. 4

Question Number : 82 Question Id : 92090611019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(;iven below are two statements :

Statement I : The major purpose of Inter-Library Loan (ILL) 1s to place every book,
manuscript, archive or other graphic record within the reach of
persons who need them.

Statement Il : The five laws of library science are not concerned with theory of ILL.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement II are incorrect
(3) Statement I 1s correct but statement II 18 incorrect

(4) Statement [ 1s incorrect but statement 11 1s correct
Options :

92090643525. 1

92090643526. 2

92090643527. 3

92090643528. 4

Question Number : 82 Question Id : 92090611019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(3) ®YT | A 8, Wik HUA 11 Teld &
(4)  ®YT | 3UY g, Al YT || ¥l &

Options :

92090643525. 1
92090643526. 2
92090643527. 3
92090643528. 4

Question Number : 83 Question Id : 92090611020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement [: UNIX and LINUX looks similar.

Statement II :  Both the operating system softwares comes from the same code.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct

(2) Both Statement [ and Statement II are incorrect
(3) Statement [ 1s correct but statement 1l is incorrect
(4) Statement I 1s incorrect but statement I 1s correct

Options :

92090643529. 1
92090643530. 2
92090643531. 3
92090643532. 4



Question Number : 83 Question Id : 92090611020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 Q By 3 T §:

HYF | ; g SR TT3 TP GHM Yald 8 § |

HY Il : THT SR A TRTR E A B AT |
ORI e ¥ el §, A1 Ry Ty Rl 7 9 W SR g

(1) YIRS T &
(2) HYF ISR TH A @

(3) Y| TSI E, AP HYF 11 TAd &
(4)  HYF |70 g, AfbT HYF 11 e ©

Options :

92090643529. 1
92090643530. 2
92090643531. 3
92090643532. 4

Question Number : 84 Question Id : 92090611021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Social Networking is grouping of Individuals for a specific purpose.

Statement II: Twitter 1s a social networking website which 1s popular around the

world.

In the Light of the above Statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement [ and Statement II are false
(3) Statement | 1s true but statement 11 1s false
(4) Statement I 1s false but statement II is true

Options :

92090643533. 1
92090643534. 2
92090643535. 3



92090643536. 4

Question Number : 84 Question Id : 92090611021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEEACACAFURIOES

HYF | - WL Feaid1 ARy varsE sufeRe &1 wET 8 |

FY || feaer U@ HIvE Aeafd 1 davrse ¢ o 9yul fay J dsta g |
SURIF HY & el H, A fqu e fawedl # ¥ ¥el 3w g -

(1) HYFI3RISHI TS &
2) HYFI3RITH T
(3) Y| gl 8, AP HYF 1 7TAd ©
4) ®YT I TAd g, dfce HYF 11 Hel §
Options :
92090643533. 1
92090643534. 2

92090643535. 3
92090643536. 4

Question Number : 85 Question Id : 92090611022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  The basic characteristic of a good university library is its complete
identification with its institution.

Statement Il : Special libraries are not open for everybody and serve to specialized
clientele.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but statement II is false

(4) Statement I 1s false but statement II is true



Options :

92090643537. 1
92090643538. 2
92090643539. 3
92090643540. 4

Question Number : 85 Question Id : 92090611022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRIAFAERAMEE

FYT1 ;. Ia9 fAufoRIey s &1 9o Ao S96 SRME F 9y g9e] agof
UgIH Il 8 |

YA a2 qadTed R A & fore gau T8l g1d g, 3 fafRiy waemrd args - ol &
fu g

IRl HYA & 3iTeired H, 913 fou e fded # 9 98l I g

(1) ®YF 1 3R 1| g1 Tl &
(2) ®YF1 R I EHITed 8
(3) &Y | Tl ¢, Al YA 1 TAd §
(4)  ®YT | TTad g, Al YT 11 9 ©

Options :

92090643537. 1
92090643538. 2
92090643539. 3
92090643540. 4

Question Number : 86 Question Id : 92090611023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ : The World Wide Web encompasses the universe of information via

HTTP.

Statement II: HTTP does not provide access to internet protocols like FTP and
SMTP.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement 1l are true
(2) Both Statement [ and Statement Il are false
(3) Statement I 1s true but statement II is false
(4) Statement [ i1s false but statement II is true

Options :

92090643541. 1

92090643542. 2

92090643543. 3
92090643544. 4

Question Number : 86 Question Id : 92090611023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
41 A by 33 M &
PYAI| : dcs diss 48 A I & it & A § YA 9 B IR IG 8§

FYAI: A A up A W SR v e A Ui S geae Uieidlal & i A8l ueH
HXl & SWIFd HYA & STl |, - 3w 7 fased! # 9 wgl 3w g+ -

(1)  ®YF | 3R 1 SF Hel &

(2) YA SR IIEH Tad g

(3) &Y | Hel g, i YA 11 7Tad ©

(4) HYF 7T g, b YT 11 el §

Options :

92090643541. 1

92090643542, 2

92090643543. 3
92090643544. 4



Question Number : 87 Question Id : 92090611024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the library networks among these :
(A) NICNET

(B) DELNET

(C) INDONET

(D) ADINET

(E) JANET

Choose the correct answer from the options given below :

(1)  (A) and (C) only (2) (B)and (D) only
(3) (C) and (E) only (4) (B) and (E) only
Options :

92090643545. 1
92090643546. 2
92090643547. 3
92090643548. 4

Question Number : 87 Question Id : 92090611024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafofad o 9 (e Jeas! &1 fafed St
A Fee

B. Sdc

C. ¥ He

D. USHe

E. WHe

4 feu U fasedl § § Uel TR &1 994 Hifolt

(1) &ad A 3R C,
(2) &ad B3RD
(3) &dd C 3ARE
4) Hdd BIIRE

Options :

92090643545. 1
92090643546. 2
92090643547. 3
92090643548. 4

Question Number : 88 Question Id : 92090611025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these are proprietary software for library management?
(A) Koha

(B) SOUL

(C) Liberty

(D) Evergreen

Choose the correct answer from the options given below :

(1)  (A) and (C) only (2) (B) and (D) only
(3) (B) and (C) only (4) (A) and (D) only
Options :

92090643549. 1
92090643550. 2
92090643551. 3



92090643552. 4

Question Number : 88 Question Id : 92090611025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JETad Yaed g Wiitd SitedmR Fafif@a d 3 e a g2

A. I8l
B. Hd
c. foadt

D. UadH
4 fou U fas el 1 § Uel IR &1 994 Hifot

(1) &ad A, 3R C,
(2) &dd B3RD
(3) &dd B, 3R C
4)  &dd ASRD

Options :

92090643549. 1
92090643550. 2
92090643551. 3
92090643552. 4

Question Number : 89 Question Id : 92090611026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The getway, which is opened for information that passes one or more security
instruction is called

(A) Codes
(B) Firewall
(C) Shield
(D)  Audit

(E) Password

Choose the correct answer from the options given below :

(1) (A and (D) only (2) (B) only
(3) (C) and (D) only (4) (D) and (E) only
Options :

92090643553. 1
92090643554. 2
92090643555. 3
92090643556. 4

Question Number : 89 Question Id : 92090611026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

98 U9 gR il Ga1 & forg Wren T g qut foraw us a1 399 1fie e Ay wWigd g
ACEE

A HIS

B. ThRIGTd

c. die

D. 3ifse

E.  U&ds

4 fau e fawedl 7 A 9l IR &1 994 B ;
(1) &ad A SR, D

(2) &dd B

(3) &dd C3fR D

(4) &dd D 3INE



Options :

92090643553. 1
92090643554. 2
92090643555. 3
92090643556. 4

Question Number : 90 Question Id : 92090611027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements about ‘Index Translationum’.

(A) Itis an international bibliography of translation.

(B) It provide details of books translated in the world of English.
(C) It covers limited field of knowledge.

(D) It is compiled and published by library of congress.

Choose the correct answer from the options given below :

(1)  (A) and (C) only (2) (A) and (D) only
(3) (A) and (B) only (4) (B) and (C) only
Options :

92090643557. 1
92090643558. 2
92090643559. 3
92090643560. 4

Question Number : 90 Question Id : 92090611027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



98 U3 gR S Ga1 & fore Wian mar § qur foraw v a1 359 Sifie WRal ey Wigd g1
23%;

A B8

B. WhIERATd

c. Hi®

D. 3ifse

E.  U&ds

4 3y e fasedi @ 4 981 IR &1 994 Hifoig :

(1) &dd A S8R, D
(2) &dd B

(3) ®dd C3MR D
(4) Hdd DIRE

Options :

92090643557. 1
92090643558. 2
92090643559. 3
92090643560. 4

Question Number : 91 Question Id : 92090611028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MEDLARS feature includes :

(A) MEDLARS is a computerized storage and retrieval of biomedical hiterature.
(B) MEDLARS is a full text biomedical retrieval system.

(C) MEDLARS was established in 1864.

(D) MEDLARS started at NLM on the campus of NIH in Betherda, Maryland.

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (D) only
(3) (A) and (C) only (4) (B) and (D) only

Options :



92090643561. 1
92090643562. 2
92090643563. 3
92090643564. 4

Question Number : 91 Question Id : 92090611028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hsad (MEDLARS) B i € ;

A ST SR Aitd 1 Syeded HeRU @ gm 3

B. WeoR Ud Heu1a Siafafde gAuiftd yumedt §

C. Heod P RIUATaY 1864 H &1 18 ot

D. ASTY Bl IR BAIUS F JUTST # U 4TS UF URIR & U4 va w & g4t <
13 f3u v fasedi 7 9§ WEt I &1 99 P :

(1) &dd B, 3R, D

(2) @dd ASRD

(3) dd ASRC

(4) Pdd B3RD
Options :

92090643561. 1
92090643562. 2
92090643563. 3
92090643564. 4

Question Number : 92 Question Id : 92090611029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the operations of technical processing section of a library?
(A)  Classification

(B) Translation

(C) Maintaining shelf list

(D)  Shelving

(E) Preparation of list of additions

Choose the most appropriate answer from the options given below :

(1) (), (D) and (E) only (2) (A), (B) and (C) only
(3) (B) (C) and (D) only (4) (A), (C) and (E) only
Options :

92090643565. 1
92090643566. 2
92090643567. 3
92090643568. 4

Question Number : 92 Question Id : 92090611029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QST & dh-Id! UHHU] SFHHRT & S FEfid T4 P A ¢ ?

A B

B. 3fdId

C. My g &1 erRam
D. Tyfg=gaA

E. FTanTd U &1 Yl dUR &l
H4 fu e faedi # 4 waifie Iugad I g+l ;

(1) &ad C,D3IRE

(2) &ad A B, 3R C

(3) &dd B,C3RD

(4) Had ACSRE
Options :

92090643565. 1



92090643566. 2
92090643567. 3
92090643568. 4

Question Number : 93 Question Id : 92090611030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are launched by UNESCO?

(A) UNISIST

(B) SSDC
(C) CAC
(D) NATIS

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (D) only (4) (A) and (C) only
Options :

92090643569. 1
92090643570. 2
92090643571. 3
92090643572. 4

Question Number : 93 Question Id : 92090611030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Praffad # & Rrd g3 grRI s e 1 o 2

A

B.

£

D.

AR (UNISIST)
THugEtdl(sspC)

dedticao
e (NATIS)

4 feu e faswedl o 4 gaffties Iuged IR g0 :

(1)
(2)
(3)
(4)

%ad A, 3R B
&dd B, 3R C
&dd A SR D
ddd AR C

Options :

92090643569. 1
92090643570. 2
92090643571. 3
92090643572. 4

Question Number : 94 Question Id : 92090611031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I1 :

(A)

B)
(©)

()

List I
RDA

OPAC
MARC21

GILS

List IT

(I) To act as a bridge between library
resources and users

(IT) ILMS software

(ITI) Government Information Loeation
Service

(IV) Standard for cataloguing

Choose the correct answer from the options given below:

(1)
2
(3)
4)

A)-(D), (B)-AV), (O)-I), (D)-(I1D)
(A)-a1D), (B)-(@D), (C)-AV), (D)-(D)
(A)-(@), (B)-(IID), (C)-(ID), (D)-(IV)
(A)-(IV), (B)-(), (C)-(ID), (D)-(I1T)

Options :



92090643573. 1
92090643574. 2
92090643575. 3
92090643576. 4

Question Number : 94 Question Id : 92090611031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & "1y gt 1| 61 A Sifo

Tt Tt -l
(A) SIREIT(RD A) () Y&kl HoeEl  ud
SuEsl & d9 g &
U H & Hd &
@) MATd(0OPACQ (i) 3ME Ud U UY WRedar
(C) HI& 21 ( MARC 21) (1) DI a1 Ry Jar
(D) e (GILLS) (V) UEBR0 S

=14 f3u e Al § 9 UEl IR &1 99 Sifo:

(D QD). B)-AV), (C)-(1D), (D)-A1L)
(2) (A, (B)-D), (O)-AV), (D)-(ID)
@) A)-D), (B)-(ID), (C)-I), (D)-(IV)
(4)  (A)-IV), (B)-(D), (C)-(ID), (D)-(I1I)

Options :

92090643573. 1
92090643574. 2
92090643575. 3
92090643576. 4

Question Number : 95 Question Id : 92090611032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

List 1 Last 11
(Algorithm) (Symbols)
(A) Terminal M >O N

(B) Process
w

(C) Decision making (D)

(D) Connector av) ( )

Choose the correct answer from the options given below:

(1) (A)-aID), B)-IAV), (C)-(I), (D)-(1L)
@  (A-av), (B)-(11), (C)-111), (D)-(I)
3)  (A)-AV), (B)-(I1D), (C)-(1I), (D)-(D)
4)  (A)-aD), (B)-(I1D), (C)-(IV), (D)-(D)

Options :

92090643577. 1

92090643578. 2

92090643579. 3
92090643580. 4

Question Number : 95 Question Id : 92090611032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & A1 G 11 BT A S

- T
(@t faf) (Symbols)
(A) S (i) 0) >(O)—
(8) Ufshar
w
() Tofg ufssan

(111
(D) ¥ vy C )

4 f3u MU fasmedl # 9§ 9El IO &1 9949 SIS

(1) A)-aID, (B)-(IV), (O)-(), (D)-(D)
(2)  (A)-(V), (B)-1D), (O)-(IID), (D)-(I)
(3 (A)-AV), (B)-IID), (C)-aD), (D)-()
(4)  (A)-1D, (B)-(IID), (C)-AV), (D)-(I)

Options :

92090643577. 1
92090643578. 2
92090643579. 3
92090643580. 4

Question Number : 96 Question Id : 92090611033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List II
(Computer Generations) (Electronic components used)
(A) First Generation (I) Silicon chips/microprocessors
(B) Second Generation (I) Vacuum Tubes
(C) Third Generation (ITI) Transistor
(D) Fourth Generation (IV) IC chips

Choose the correct answer from the options given below:

(1) (A)-AV), (B)-(ID), (C)-(1), (D)-(11L)
2  AQ-aD, (B)-IV), (C)-111), (D)-(I)
3)  (A)-aD, (B)-(ILD, (C)-(AV), (D)-(V)
@) (A)-a1D), B)-IV), (C)-(D), (D)-(1D)

Options :

92090643581. 1

92090643582. 2

92090643583. 3
92090643584. 4

Question Number : 96 Question Id : 92090611033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & a1y gl 11 &1 e $ifo

dl-1 (@ugeR didh -
(TG JABLIHD e )
A)  uyH idh () fofereeT oy Ags! TR
8) feda didh () Fafd et @pgA =m)
(C) qdig didt (1 ciferex
(D) dqd Uil (1v) 3ms 4t fag

19 fau v faswedl | 9 9el IR &1 9949 Sifor:

() (A)-(IV), (B)-(ID, (O)-(D), (D)-(1L)
(2)  (A)-(ID, (B)-AV), (O)-11D), (D)-(D)
(3)  (A)-aD, (B)-ID), (C)-(IV), (D)-(V)
(4)  (A)-(ID), (B)-(IV), (C)-(D), (D)D)



Options :

92090643581. 1
92090643582. 2
92090643583. 3
92090643584. 4

Question Number : 97 Question Id : 92090611034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match Last I wath Last 11 :

Liast I
(Malware)
(A) Worm
(B) Bomb

(C) Trojan Horse

(D) Parasite

List I1
(Activity)
(I) Virus which waits for certain period
before executing code
(I) Virus which copies itself multiple
times eventually leading to crash
(ITI) Virus which appears to have useful

function, but have a secret
malicious motive

(IV) Virus which attaches themselves to
other program

Choose the correct answer from the options given below:

(1) (A)-@), (B)-(II), (C)-(IV), (D)-(11L)
2)  @A)-dD, (B)-(1), (C)-(I1D), (D)-(IV)
(3)  (A)-aD), (B)-(1ID), (C)-(D), (D)-(IV)
4)  (A)-ID), (B)-AV), (C)-11), (D)-(I)

Options :

92090643585. 1

92090643586. 2

92090643587. 3
92090643588. 4

Question Number : 97 Question Id : 92090611034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Tt | & a1y g 11 T e i

TAl-1 (ATAdTR) Tl 1 fafafe

(A) @TH (WORM) () T IERY & sis FHwreA & yd Mg
3afY d& Udie el &

(B) I (BOMB) () 98 9’y Sl 39+ 39 &3 gR B4l
S & 3R 3idd T B ol 2

(€) o g (1) 98 IO Sl Iuanft &1d &3 aran
vt g ¢ febg 3ad gufayef wads
fAfgd gl g

(D) WRERe (V) @8 3/Ed off @4 & 3 UNH &
g1y Tfend HR A1 8

i fau U fadedi 4 9 el IR &1 994 SHifo:

() (A-D), B)-AD), (C)-(IV), (D)-(1D)
(2 (A)-ID, (B)-(D), (C)-(1I), (D)-AV)
(3)  (A)-1D, (B)-(IID, (C)-(I), (D)-(IV)
(4)  (A)-(ID), (B)-(IV), (C)-(ID), (D)-(D)

Options :

92090643585. 1

92090643586. 2

92090643587. 3
92090643588. 4

Question Number : 98 Question Id : 92090611035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match Last I with List IT :

Last I List II
(Subject) (Symbol)
(A) Common auxiliaries of language (I) Symbol (1/g)
(B) Common auxiliaries of form aIn -“..... "
(C) Common auxiliaries of place (ITI) Symbol (0.....)
(D) Common auxiliaries of time (IV) Symbol =

Choose the correct answer from the options given below:

(1)  (A)-a), (B)-11), (C)-(IV), (D)-(D)
(2  @-av), (B)-11), (C)-D), (D)-(1D
3  @-I B)-IID, (C)-(I), (D)-(IV)
4  (A)-aD, (B)-1D), (C)-AV), (D)-(I1I)

Options :

92090643589. 1
92090643590. 2
92090643591. 3
92090643592. 4

Question Number : 98 Question Id : 92090611035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| & g 1 & g ghfid SR

i1 (fawm) Tt -1 (UdiD)
(A)  HIST T HHA HelH (i) Udid (1/9)
(B) URSY &1 HHA YD (ii)
(© WS HE s (i) UdlP (o.....)
(D)  HHY & M Hedd (iv) Wdld =

(1) (A)-(ID), (B)-(ID, (C)-(IV), (D)-()
(2 (A)-IV), (B)-IID), (C)-(D), (D)-(1L)
(3) (A1, (B)-(ID), (C)-(1I), (D)-(IV)
(4)  (A)-(ID, (B)-(D), (C)-(IV), (D)-(11I)

Options :

92090643589. 1
92090643590. 2
92090643591. 3
92090643592. 4



Question Number : 99 Question Id : 92090611036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match Last I with Last IT :

List I Last I
(Profounders/Persons) (Theorv/Concepts)
(A) Luther Gulick (I) Systems theory
(B) Chester I. Barnard (IT) Motivation theory
(C) Frederick Herzberg (ITI) Scientific management
(D) F.W. Taylor (IV) POSDCORB

Choose the correct answer from the options given below:

(1) @)-dDn, (B)-(I1D), (C)-(D), (D)-(IV)
(2  A)-dm, B)-D, (C)-aV), (D)-ID
3)  A)-av), (B)-(D), (C)-(II), (D)-(1I)
@) (A)-1), (B)-(IV), (O)-(II), (D)-(1LI)

Options :

92090643593. 1
92090643594. 2
92090643595. 3
92090643596. 4

Question Number : 99 Question Id : 92090611036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & a1y G 1 & ury gafed $ifee
-1 (diaTges / safda) SiGIal

A IR Tfas ()  womel Rigid

B. TR G EIS iy SR fagid

C. ThsR® goat (i)  AFD UEEH

D. Uh. 3deg e (iv) URE ®Id (POSDCORB)

49 fau MU faeedi § 9 el 3Tk &1 99 Sif

(1) (A)-1D), (B)-(1ID), (C)-(I), (D)-(IV)
(2)  (A)-(ID, (B)-(D), (O)-aV), (D)-(1D
(3 (A)-(V), (B)-(D), (C)-(ID), (D)-(I1)
(4 A)-D), B)-AV), (C)-dD), (D)-(I1L)

Options :

92090643593. 1
92090643594. 2
92090643595. 3
92090643596. 4

Question Number : 100 Question Id : 92090611037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last IT :
List I List II
(Work/Concept) (Method)
(A) Periodical work (I) Two card system
(B) Stock verification (IT) Three card system
(C) Circulation (III) PPBS
(D) Budgeting (IV) By shelf Register

Choose the correct answer from the options given below:

1) (A1), (B)-(II), (C)-(1D), (D)-IV)
@  (A)-av), (B)-D), (O)-aD, (D)-(11D)
3)  (A-1D, (B)-(I1I), (C)-(), (D)-IV)
4 (A)-aD, (B)-(1V), (O)-(D), (D)-(1D)



Options :

92090643597. 1
92090643598. 2
92090643599. 3
92090643600. 4

Question Number : 100 Question Id : 92090611037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT | & 1Y Y 1S "y gAferd sifee
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(A) STl BT o fePE s
(B) HSR I (y BeEugfa
(€) uREmeH () dididies (PPBS)
(D) doled (v) Furidst grr

49 feu e fasedi § 9 9el IR &1 999 Sifo :

(1) (A)-(D), (B)-(III), (C)-(II), (D)-(IV)
(2) (A)-(IV), (B)-(D), (C)-(ID), (D)-(I1I)
(3) (A)-(IT), (B)-(IL1), (C)-(I), (D)-(IV)
(4) (A)-(ID), (B)-(IV), (C)-(I), (D)-(I1I)

Options :

92090643597. 1

92090643598. 2

92090643599. 3
92090643600. 4



